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3HQHOLWLDQ� XQWXN� PHQJDQDOLVLV� SHQJDUXK� /'5�� 13/�� 1,0�� GDQ� %232�
WHUKDGDS� 3URILWDELOLWDV EDQN� PHQXUXW� XNXUDQ� WHODK� GLODNXNDQ� GL� %3$� .DQWRU�
:LOD\DK� ;� -DNDUWD�� 'DWD� SDQHO� GLNROHNVL� GDUL� ���� VDPSHO� FDEDQJ� \DQJ� WHUEDJL�
GDODP����FDEDQJ�NHODV�$��GDQ����PDVLQJ�PDVLQJ�FDEDQJ�NHODV�%�GDQ�&��VHODPD�
�� WDKXQ� GDUL� ����� VDPSDL� ������ 'DWD� GLDQDOLVLV� GHQJDQ UHJUHVL� GDWD� SDQHO
PHQJJXQDNDQ�VRIWZDUH�(YLHZV�����

+DVLO�DQDOLVLV�PHQXQMXNNDQ�EDKZD�VHFDUD�SDUVLDO�SHQJDUXK�/'5��13/�GDQ�
%232� WHUKDGDS� 52$� DGDODK� EHUEHGD� PHQXUXW� XNXUDQ� EDQN�� VHPHQWDUD� 1,0�
VHFDUD�NRQVLVWHQ�EHUSHQJDUXK�SRVLWLI�GDQ�VLJQLILNDQ�WHUKDGDS�52$�SDGD�VHPXD�
NHODV��'HPLNLDQ�SXOD�/'5��13/��1,0��GDQ�%232�VHFDUD�VLPXOWDQ�EHUSHQJDUXK�
VLJQLILNDQ�WHUKDGDS�52$�SDGD�VHPXD�NHODV�
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5HVHDUFK� WR� DQDO\]H� WKH� HIIHFW� RI� /'5�� 13/�� 1,0�� DQG� %232� RQ� EDQN�
SURILWDELOLW\�DFFRUGLQJ�WR�VL]H�KDV�EHHQ�GRQH�LQ�%3$�5HJLRQDO�2IILFH�;�-DNDUWD��
3DQHO�GDWD�ZDV�FROOHFWHG�IURP�����EUDQFK�VDPSOHV�ZKLFK�ZHUH�GLYLGHG�LQWR����
FODVV�$�DQG����EUDQFKHV��HDFK�FODVV�%�DQG�&�� IRU���\HDUV�IURP������WR�������
'DWD�ZHUH�DQDO\]HG�E\�SDQHO�GDWD�UHJUHVVLRQ�XVLQJ�VRIWZDUH�(YLHZV�����

7KH�UHVXOWV�RI�WKH�DQDO\VLV�VKRZ�WKDW�SDUWLDOO\�WKH�HIIHFW�RI�/'5��13/�DQG�
%232�RQ�52$�LV�GLIIHUHQW�DFFRUGLQJ�WR�EDQN�VL]H��ZKLOH�1,0�FRQVLVWHQWO\�KDV�D�
SRVLWLYH�DQG�VLJQLILFDQW�HIIHFW�RQ 52$�LQ�DOO�FODVVHV��/'5��13/��1,0��DQG�%232��
DV�ZHOO�DV��VLPXOWDQHRXVO\�KDYH�D�VLJQLILFDQW�HIIHFW�RQ�52$�LQ�DOO�FODVVHV�
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